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INSTRUCTIONS TO THE CANDIDATES

The admission to the examination is provisional.
In the event of any information furnished by the
candidate found false / incorrect / incomplete
detected at any stage, the candidature shall
be rejected.

Darken the circles in the OMR sheet
completely with Black / Blue ball point pen
only. Partial darkening shall not be evaluated.

as completely /

HiN any manner
luid / erasing by
z evaluated.

be opened until
correctly in this
. lanswer-sheet.

LT e

The candidate should check the No. of Printed
Pages and Questions along with their Serial
Nos. In case of any discrepancy found,
exchange the defective one and collect another
correct one from the invigilator within 5 (five)
minutes and thereafter no complaint shall be
entertained.

The examination shall be conducted as per
the Odisha Conduct of Examination Act, 1988.
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Each question has four possible answers. Choose the correct answer from
among them and darken the appropriate circle completely in the
OMR Sheet with Blue / Black ball point pen.

[ dg8e4 cdadme
EHlLD DEVELOPMENT & PEDAGOGY

1. 600 0Q g6€ ? 1. Which one is not correct ?
- = D | ent is a life-l
A) d9id 9@ d1eeual gda A, Dgveigbment s a life-long
process
ps TR | i il
(;/ SR8 U3 63Re 26e FEwea oy

(C) Developmentis individualistic

(D) eqagesa @6e U8 a6 (D) Development does not stop at-

Q1@ maturation
2.  UARCYRd G699 699 9T 26s' ? 2 Which process is the motivation ?
(A) qIede (A) Mental
(B) ¢@I1a@ (B) Physical
(C) uesde (C) Emotional
(D) Qe (D) Social

3. geede daldiy 08eain d8e ee@ | 3. What type of questions should the
geIeR 99 99IAI 980 ? teacher ask to identify creative
(A) SEg s children ?
QEd 8%
(A) Divergent thinking |

(@lal[=la=
{5 (B) Diagnostic

(C) eaglags! (C) Covergent thinking

(D) ,Activity based

(D) RueRa G
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BN TG i s A . Ve S R, e v il ot RN
eQaliang ? child ?
(A) QI096 2RIGe (A) Lack of interest in study
(B) ¢1RdR 2dae (B) Mentally unstable
(C) QUEQIIFQ AV (C) Lack of adjustment
P) easaIs ag (D) . All of the above
5  “%eadzl’”’ Qo 990 aase ? 5. Which one is associated with
= ‘Disckessia’ ?
(A) Q0% SRR

(A) Reading disorder

(B) ¢Iede dia _
(B) Mental disorder

(©geaaia (C) Hearing impaired
(D) 2easeo IRl (D) Behavioural disorder

6. 2IC 6QE6H AATO FQI QIIFN 696R 6. When did the integrated education
2] eRId@I ? ‘programme start in India ?

(A) €¢8o @ REo (A) 1950 to 1960

(Breese g ecvo (B) 1961 to 1970

(C) ecoeqecro (C) 1971 to 1980

i) seregsees (D) 1981 to 1990
7.  2@6gae Qe NeRIea FFI ; 7. Inamotivated learning situation the
: learner :
WB@I@Q]@ 2ige eLixaid (A) Becomes interested to ask
questions
(B) QIO caId AR @A (B) Memorises the lesson by
cramming

(C) QaIdl @F163 Feg gge @alid (C) Prepares himself for the exami-

~ nation
(D) oraged 8 Igad AR 621Q-

(D) His memorization and
ang

forgetting becomes equal

< »
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g698QI ORIl 69 JRIRA JANISS ?

(A)

(B)

(}Z)

(D)

QG

[Xalal=

ORISR

NI

6e@¢ 6CIFY 8 QAR 99

¢

(B)

(C)

(D)

_g6e ?

R TR 6Q60IG SHIQ VY6l

Qe ?
A9a QY ems
PR RUEITE! end |

601G QUG QAR IR FAS

QI |

QERUY1 JQI QITIFE 2T AUNYER 6969

dies evingml ?

(;)/ 2005 — 2006

(B)

(©)

(D)

2006 — 2007

2007 — 2008

2008 - 2009
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10.

e —

What type of evaluation is the

entrance test ?
(A) Summative
(B) Diagnostic
(C) Formative

(D) Placement

Which one is not a free response

type question ?

(A) How many gases are released
by a tree during day time ?

(B) Write the functions of leaf.

(C) Write the use of water.

(D) Explain how a piece of stick

can be used.

When did multi-lingual education

programme start in our state ?
(A) 2005 - 2006

(B) 2006 —2007

(C) 2007 —2008

(D) 2008 — 2009
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1. 2011 @R9€R1 ALAER 2IF 6Q9Q AR

AFAQI 21] 6QEQ ?
(A) 60.46
9,‘50.64
(C) 65.46

(D) 75.46

12. 6RQC d9-602e AR 9e° d96
AR Q6L ?
A JF€IZQ0 QA6R GRY gIR
(BS ANGe IQIE QUCR FRQ IR
(C) Q-2UAR AU6R GRQ IR
(D) 6g4q1 K119 QU6Q QY
geie
13. 6REG JAYIGE Q AR 6L ?
(A) 600K
(B) 6QG° 63Q
(C) 691699 Q1€

Py qeidy
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1.

12.

13.

According to 2011 Census of our
country what is the literacy rate of

women ?

(A) 60.46
(B) 60.64
(C) 65.46
(D) 75.46

Which of the following is not
related to child-centred teaching and

learning ?
(A) Emphasis on learning

experience

(B) Emphasis on holistic develop-

ment
(C) Emphasis on self-learning

(D) Emphasis on class-room

teaching

Which one is not an evaluation
tool ?

(A) Checklist

(B) Ratingscale

(C) Progress Card

(D) Home task
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14. §e8d oaise SseQ caITle gssii'? 14. Which one is not a step in experi-

mental léarning ?
(A) -endiia'qeace (A) Sensing the problem
(B) QaQyiq eei1ead (B) Defining the problem

(C) Gais Sgas (C) Drawing conclusion

(?5 219 °GT09 (D) Construction of knowledge

15. 6ee¢ ud 9gf dsaa salQiQ 15. Which one is not a step of

Q6% ? meaningful Ie.arning ?
(?) g8 (A) Engagement
(B) <dql (B) Explanation

(;;) ENIeas (C) Illustration

(D) gede (D) Demonstration

16. 6Qa¢ dIdIQ or'a 2YITR AR e 16. Which of the following is

aQade ? related to the learner’'s hand-
e: writing ?
(A odage
(A) Maturation
- g (B) Family
(C) adeeaa (C) Environment
(D) <201 (D) Peer-groups
17. 6290 4@ QIey 2ARsgad! ? 17. Which one is the extrinsic motivation ?
(AJ Qg (A) Punishment
(B) @i Q621w (B) Self-satisfaction
(C) zge (C) Interest
(D) 21q Q=R (D) Self-esteem

A 4 B osa e . - -~
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18. 6@Q6 d949 ged g6¢ ?

19.

20.
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(A) Q628

@/ QAQ-Q1ae

(C) <da

- (D) QALRNIR

60a& O g6% :
}&) §g 90 Fa6al VR 6IFE KRS
(B) 661G dgQ ARy d¢ AhUea
gé°dl @a<l
(C) 899 UM AYHER 9RR1 @
QA

(D) 499 AN 999 @ 699

“aQRol @ g%ﬁﬁa Q] SREAR
ageae @ dad 1”7 9@ adf &9
Q4IQeIeR 7

Mﬁ{gl@

(B Gaa

(C) MIQYRAY

(D) 6eeQ

f

18. Which is not a nature of learning ?

19.

20.

(A) Purpose

(B) Limited to Age
(C) Active

(D) Universa_il

Which one is not correct ?

(A) Showing impartial attitude

towards the children

(B) Praising a child before other

children

(C) Not comparing a child before

other children
(D) Not giving maximum scope to

the child

“Learning is the modification of
behaviour through experience and

training.” Who stated it ?
(A) Hilgard '

(B) Skinner

(C) Cavlin

(D) Gates
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~ o R Mol bl
21. Q68 6Qaf 9@ UAVAER gI Al 21. Which of the following is not a

g6 ? continuous process?

(A) 2R6gadl (A) Motivation

(B) 4dsé (B) Learningw

(C) S9i4 (C) Development

(D) 208 (D) Growth

22. Q69I8 6QAF Q99 98169 6 22. Which of the following is both

geIaR ? qualitative and quantitative ?
(A) cae (A) Study

(B) <igél (B) Experimentation

(C) qauIge (C) Evaluation

(p{ adyeead (D) Observation

23. 9Q YA 699 9B QR G0 23. By which process does the growth of

eLIRaNg ? the individual take place ?
A ance (A) Social

(B) 6@Q@ (B) Biological

(C) 68l (C) Educational

(D) wARR (D) Continuous

24. 62QF Juieee 691Fe F1Q 24. Which one is related with the assimi-

INQAIRNE AL IS ? lation of Piaget's cognitive develop-
?
(A) 2ie T\iQ Gl
(A) Self-cognition
(B) Qaee
¢ (B) Accommodation
C) el
(- ;" (C) Imagination
(P{ gougiaead (D) Perception
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25. 62@6 “Cephalocaudal” 3Q16 QI 25. Which one refers to “Cephalocaudal”

qoimelig ? development ?

(A) 62QQ e e (A) From centre to head

(B) qeQ €I dieg (B) From head to toe

(C) 6@1Q egsalq (C) From centre to periphery
/(D) QUEAUD AN1Q (D) Allofthe above

26. 6eRIQ1 SBIRAIG OYRIAIR 694 988 | 25 \Which method is suitable to identify

QaeQladlt aAsS ? the gifted learners ?

(A) 99 Qe (A) Intelligence Test

(B) d8@w adieeas (B) Teachers observation

(C) 991 gt (C) Achievement Test

1) eceais g (D) Allof the above

27. 9€4699¢ HNEQ IO @4 6M ? AR g Sap——
tional | ing ?
(A) 6999 obsrvational learning
(A) Gates
(B) <Igel
(B) Bandura
e (C) Skinner
(D) Queaq (D) Cavlin
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28. 694 QYT IR B IAFA ARG Q6L ?
(A) [0y
('I}r qeedy du
(C) <RNRE Ty

(D) geaiIead Gy

29. 6200 9o IR F698Q Q6% ?

(A) P81 demn daie Fda goa
AP

(B) @{&a @Qq dais daIe fda
gor gase

}6) NS 654160 2BIFER 90 R4
dgIEl Q@ ade

(D) dRIEhrIes aia URIFRS SRR

Il

30. 69uG ANRIQ gIIQ 9g 6L ?
(A) <QoYIAY
‘fB)/ QI g&
(C) 99 679e

(D) <gdee
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28.

29.

30.
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Which principle is not associated

with growth and development ?

(A) Principle of continuity

(B) Principle of contiguity

(C) Principle of integration

(D) Principle of segregation
Which is not a feature of special
education ?

(A) Special school for specific dis-

abled learners

(B) Special educators for teaching

disabled learners

(C) Each class should consist of

atleast 20 learners

(D) Provision for vocational training
for such learners

Which is not a Recognition type test ?

(A) Trueand False

(B) Sentence completion

(C) Matching

(D) Multiple choice
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(M. 1. L. (ODIA)]

doa Agegesd ai0ed fgade 99

(8°. Me Q o°. NB) gERe waa I :

2INe geges 2eg ‘9gede

2eaQr @ 9@ gra 9998 coq

QIRgs, QLR FaIae gay 6 QIgdy
AR R 629 R | OIQ AW 6K69,
6dIQl 6960 | €QFIER RIdaen 64
2y 2YFe QEa Qeiea 9! 4R
AR-2YTe gl AR B 698
oA QAT PR FUAEIIR 6ATISR
68 FQaen | 919, 6, ed,aisl 6
OREIR ZRISER FERQY 6ACER 63T
A6RQ8 @gAca fsaasn | 6226Q
Qg PRI, ALARIR IR VIIE
Q&aml |

969 IEE 60Q 6QIQAARD
QARER AL FQER Bl A G-

doae Q9 RERI0IQ 6960 QR ?
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31.

‘9@ ¢’ 6QIRININERARR MRAILR
aaeer! | ‘9geen’ Aee1 Sq98a
4R dI0IZR Q8R! | 69JARNNERARA
‘N Q¢ QI86Q QRIS G
Q8gRIvITe Y@ 9eaaRgd 2Ade

QURAAC AT6R QIR TRIS A8 PR

3 TAR JIFER AR QAR TRFN

AEQIGIQ QA | FYPLA 691G
g o= e

QAN 9l QIR IARER| LL6R ¢, 9
QAL S QR AARER|

| Q 6RERIQ B0, IA68 AMA | 126R

ARIQAIR G ALQLQ QEe R ARG
2 VIQGR UACRER TNTO 621
QR |

201 9IYQE 2N @'8 6RAAIRET ?
(A) 9908

(B) @ecQd

Gy 8998

(D) u9ed
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32. ““egelle ggaed’’ @19Q i ge-
gossa 699 9I0a Qo%! F6R ?
(A) Q6qIR
B) aoeQ
(C) gaua
(D) g
33. Qg gaeie Adeg iF gguad
QTR AR ToIQ FAYCA RIDS ?
(A) 6Q916R 2P YIYRE 62IRARIQ
(B) - 6Q¢l6R 2Tt YEIGIR 6Q¢aARIQ
(C) QR F6QQ QO6Q 6TTYY RS
A6RRQUAQ
gD) QER J6RQg 6TV F2d
QAU
34. ARQ I 6YIINNENAR 6RAYRIR
REE
(f() RIS
(B) Qleeee
(C) Qeyaue

(D) QRIS

< »
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35. RIAQIG FEQCR RERIEQ @4

Qe ?
(By2IR0EeRIR
(B) @@lae
(C) NS
(D) Q2o
A 99a RI9IG Q10N 96R FAIAINAS

gé (8°. M9 Q@ |°. ¥0o) gEea AR

ERS
671QQ 69108 ANIT QARG LR UK,
62 AQIQ YAYY, A6 QIF IR YAV1
QPYC J6Q P64 | 690 QR 989 qae,

2Q-dayi-ge f6z RIRRIg J6g UA-9F

Qg 799 RIP FIeR ‘QQ’, ‘YIS’
dQ AYRIQ AN 2AR6EE TR 62Q-9R,
‘QEQY’Q 92l 692 ¢J6H 1P AR ALY,

clel, gdll, Tel 96a A@RT 62 6916 A |

EQAR 649IQ QI ¢1IE 9T VIR ROED,

FIFRR 48 AR IR @F 97 PAIAS,
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RRIR FAUIBEE 6o Gl AIAEI F196] (C) Qge atEs

Fagea Jsiasm 96aIaa g §-a8 | (D) oulaQIst geIagen
- L~ G i aQ 2 5 r?

AIReQ ZIGING FSITE gaa A6, 9. Vehisw SRR 54 R eI 1

(A) udeq Qg

@y oaQ A°giat

(C) €Qu@1e Q°giel

622 6Q 60QUEY TES' AURER MIPR CADER |

36. QIR QAYQ 9RANEIQ FIRG 2ITCER

2l6m ?
(D) QIQY A9e A°gIt
(A) 2N 92 RAUAQ

40. UQEIQ CAYRER 6FAUTY RIS AIRARN
(B) & c2ea AR Q1P FIRIQ
QNS '€ ?

(C) Q2 2RRAR 621U - o
(A) ege fiee Jeasrea 2yde

D) ud 98 eReig 62iQ

37. €RQQR ZaRden Ife AR ? }* 2°QI-AeNIR €9 IPAURIQ

A) oal oea aid (C) PR 2I9Ieta AT 6291Q

(B) 9@ 9oet aigd (D) @Eeia 2l 692 ¢L6q uQ
: QAR
(C) QQIF g

“ . | 41 eedal-9eia §aQieldellNg €40F
(D) JRANARER AND FGIAQ AR

<

@a°?

38. adeq Age A 9age Qe QIdy A cIgs
QdesR ? ® @l
HA)  edeie astiee ¢ha6R ©) el
(B) @UQ8 @d @RgeR ([_)5 gQé

< »
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42. 6298 080 00 962 ?

43.

44,

(A) 634G
(B) 6a5e
(Cy 89y
(D) gen.

8RR 6888 9Q 7

(A) Foued

ji=) Q8

(C) @gewl

(D) Q<ee

T QST QUL :

(A) ¢ QIIea 968 ARIGTT QTR |

(B) @20 dRIFIER 299% 62I1a

Q26 651923 |

(C) 6976 Yaet QU G 2QUR
b4 : o
62IR JALER |

(D) €@ 2EREQ AQRQ FREIAFAR
gl YRR AR FACAIFD

eLem |

- P S
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45. 990 6969 Q@6R 12 — <@ wd

46.

47.

QIR RGN @'61 ?
(A) <QGIRT @&

@)’ 7 NFY LUAYQAVER AWET

QIR
(C) @=QIg 6aIRuIE geid

(D) Rl 6N SIe AT

6918 AUER PRVITYI — 18 Q@R 2

(A) cRaUeY

(B) @l @06a gus

(C) QSaeg @@ adal -

(D) §Q <8 <l

69% QUAFE YR QA AURYER

QL 621QTIER QIR ?
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48. ¢3060n — 900Q 990 gova dgag | 51 gIEfie asa AIgAIS! S8R 69GE

" 4 QR 968 ?
QR6R FeIQ 6RANG 629 ?

(A) 494 QVOIQ ARG AR
(A) Q91 + &
(B) Q2 ogola 9114 QIR
(B) @%el +4 ~
(9/-6@639‘@@ QIS Al

Q! + 2 &
(C) @aal +44 (D) AYP AVOIQ IR AR

— o 3
P ERReE S 52. 6990 QRIS AT 9K AAIG

e e D ?
49, 6% QIS QESIVE! G@g?}_@ ? 96@ 3

(A) QUG A0 990

(A) QLA
(B) <IBQIAR QY RUSA GRY
(B) REeQR!
J(C/) UEFRO! QUER FQQ @ 62
(C) 216999 p :
(D) 2Emeol QU6q JQ 9l
(Q{ QeI ” ’
53. 6adl FrI6R 62163 4o 2o 2RI Q]
50. 6R9E 2g1a gBeR g6d ? QARIg ORI 60QIQ 6R6M @R OF
QEIAN ?
(A) 1 _
Ja) a8 (<)
(B) o
(B) «ud (=)
a
i ©) @1 (,)
(D) dga D) <81 ()
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‘6% QI cR6eRQ YETR’ ARG Anig
JRIQl QA 69 QY ARQ 62IQ
Qe ?
(A) 26T I8
(B) 691&@ Sxi8
/@) Ao I8
(D) 4AS SRiE
696 g8 IR ?
(A) e
(B) 4e8Q
(C) 99d
(P) @0
60 QIIE Acea AQI66a q@raé o4
QU@ ?
(A) 99 UIE 64 F96Q eRTQ
(B) 2GR 62Q YRIGIT 6nEiQl

((or REYGEQ QP!

(D) 6919 69 999Eea A8 6adal

6005 BoSI0e 98 Q6% ?

M sl
(?{ FOR6 dg

JoinUs-' > f

58.

59"

60.

WtsApp/Call- 8596976190

(C) QIdiiee 9g
(D) QAR 9L

QQRUOR QA 699 QAT AR

6212 ?

(ef Q4198 9a g9

(/B«)/ d0QI’dR IFERI GOie1 6RIReINM _
(C) egegee gt 9a 29

(D) AL ANIAQ AQYE Q6T
6006 Q9148 Falrqda aala
Q6% ?

(A) gomsie

(B) QAR

s;/) UBRUIR NI

(DA 90 d0R

6QlIGY €8, 99 Q QR LA
21208 coa 08 6Q2ad afddea
9OR 48 U9 Q AINIQ MLIQ KA

dg1gg 9RI6R Qe 696 9RIQ 94

62Q ?

(A) 61904 e

(B) gP8ARINQE R
(C) 6992 goR

*D) QRIS PR
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[ L - ENGLISH J

Pick out the grammatically

acceptable sentence :

(A) Alas, the poor man is dead.
(B) Alas the poor man is dead !
(/(‘/7/Alas I The poor man is dead.

(D) Alas, The poor man is dead.

The French army

defeated at Waterioo.

Hurry up It We _______ late for

school.
(A) were getting
(B) get

}}8{ are getting

(D) got

Which one of the following sentences
is acceptable ?

(A) ,Hedidn't never go to school.
M Never he goes to school.

(C) He nevergoes to school.

(D) He goestoschool never.

JoinUs-' > f

65. Pick out the error part of the

sentence:

The call ofthe seas have always found

(B )

b an echo in him.

(C) (D)

66. Identify the grammatically acceptable
sentence :

(A) He gave some informations.
(B) He gave me an information.
(C) Hegave an information to me.

(9) He gave me some information.

67. What time is the news

T.V.?
(A) in
(B) with
(C) on
(D) at

68. It whenlgotup.
/@ was raining
(B) israining
(C) rains

(D) willrain
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69. Many Indians demand to boycott 72. The productive skills of a language

goods. are
(A) Chinese electronic beautiful (A) reading and writing j:‘s{ .
(B) electronic beautiful Chinese }3)_ listening and speaking
:(}Z)/beautiful Chinese electronic (C) reading and speaking

(D) electronic Chinese beautiful (D) speaking and writing

e 73. The use of punctuation is a subskill

person.Heis_____S.P t
A) a
A) 6’?{ (A) listening
(B) an
) (B) speaking
(C) the

(C) reading

(D) some
(D/writing

71. A child studying in Class V says, ‘I

g i 74. Formative assessments are
drinked water.

- : ‘conducted
It indicates that the child...........

A) allthrough the course
W has not learnt grammar rules & g o

properly. (B) atthe beginning of alesson
(B) should memorize the correct /(ef'gtthe end of the term
sentence. (D) atthe end of the session

R\ s tisrgenraied Silestor 75. Continuous comprehensive evaluation

making past tense verbs show- :
emphasizes

ing that his learning is taking
(A) process evaluation
place.

B) term-end evaluati
(D) is careless and should be (S terRsene Svmsion

taught to be conscious of its -(C) product evaluation

errors. (D)—summative evaluation
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76. Learning of English in India as a
second language has been so im-

portant since

‘(A) English is a foreign language.

(B) .- .English is an international
language.

(C) People speaking English are
highly honoured.

(D) Indiais a multi-lingual countty.

77. Onafour-lined hand-writing paper, all
the capital letters and the numbers

are written in

(A) lower three lines
9)/ upper two lines
(C) upperthree lines

(D) middletwo lines

78. Activity : Fill in the blanks in the

following letter.

Dealf st ;
We _________ our holidays in Ooty
very much. Usuallywe __________for

long walks everyday. The scenery

marvellous.

Wish, you were here.

Love,

JoinUs-‘ > f

79.

80.

The above writing activity-in the box

is a kind of
(A) guided writing
(B) paraliel wrifing

(C) controlled writing

>r free writing

Sarvesh is about forty five / and his

hair / is starting to go grey /

Reading according to the division of
the above sentence in the box is

called

(A) word reading
(y'phrase reading
(C) chunkreading

(D) clause reading

The pronunciation of the word ‘take’
is
(A) /ta/

(/BL Ttelk/

J
(C) /taek/ ¢

(D) ftark/
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Direction (Q. Nos. 81 to 85) : Read the
passage carefully and answer the
questions choosing the correct

alternatives given below.

When | was a boy, | liked swimming
very much. One year my two brothers and |
spent the summer holidays with my uncle
and aunt in their house by the sea. It was
only t\fpﬂg_rgs_ﬁgm the water. Every day
we put on our swimming suit before
breakfast, ran down to the sea across the
sﬂﬂd_j_gmm in. From then until
evening we were in the sea or on the beach
most of the time. When our aunt rang a bell,
we went back to the house for food. After

food we were back in the sea.

The water was warm, the sun shone
every day, and most of the days there were
no waves. In the middle of the day a wind
always began to blow but it was not strong

enough. So it did not make the sea rough.

81. The three boys liked very

much.
(A) playing on the sand

(B) boating onthe sea

Join Us-' g f

82.

83.

84.

WtsApp/Call- 8596976190

| PEI —-A |

(g_( swimming in the sea

(D) cycling down the hill

One year they ' spent .their
with their uncle.

(A) Christmas holidays

(B) winter holidays

((;)f summer holidays

(D) school holidays

They put on their swimming suit

(A) afterlunch
(B) after breakfast

Qy—before breakfast

(D) aftertea

When their aunt rang a bell, they went

to the house for
(A) sleep
(B) study

A€Y food

(D) swimming suit
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85. The word ‘rough’ has been used in

the given passage. Its opposite is

(A) violent
(Bj calm

f

(C) strong

(D) dangerous

Direction (Q. Nos. 86 to 90) : Read the
passage carefully and answer the
questions choosing the correct altematives

given below.

The ostrich is the largest of all birds.
It is found in the grassland areas of Africa.

It eats fruits, leaves and seeds.

An ostrich has wings but cannot fly.
Instead, it runs very fast. It can run at a

speed of eighty kilometres an hour.

Ostrich feathers are soft because they
are not needed for flying. Unlike other birds,

the ostrich has only two toes on each leg.

'86. Ostrich is very popular beacuse

(A) itcan'trun very fast
(B) itcanfly very high
(C) itis seen all over the world

93) it is the largest of all birds

JoinUs-' > f
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87. An ostrich cannot fly because

}Bf}/ its feathers are soft

(B) its wings are not strong
(C) itseyes aresmall
(D) its body is heavy
88. Ostriches run at a speed of about
an hour.
(A) 180 kilometres
(B) 18 kilometres

_ L%/ 80 kilometres

(D) 88 kilometres

89. Ostriches are found in

areas.

(A) dryland
4B grass land
(C) wetland
(D) highland

90. A vegetarianeats
Mruit, leaves and seeds
(B) chicken, mutton, prawn
(C) blood, flesh, bone

(D) egg, fish, meat

WtsApp/Call- 8596976190
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MATHEMATICS

69QG 8o Qea A°ade g6 ?
(A) Qa0
(B) @%aga

(C) <41 2AMS,

D) @aee!

gacegé 8o dgiea A°Hy atea
IOy INRR 6996 0I'Q AA-IPRYFRR
0 en ?

(A) @l AR, A A6L 8 IR
Q¢

(B) QoiIRNgR, QdHWIQ 2 6
AU SER

(C) Qaiia g1, A°SY RS, @ A°ayl
)

(D) @eal GER, A6 RS 6 AR
o . .

gdie ANIQIRA 64 JRTa ZRIOQ
RGOSR V64 AFAQ 622N ?

(A) zeqie
(B) aQeqle
(C) Q°6gad

@/ Q64a8
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o1.

92.

93.

Which one is not rélated to the
nature of Mathematics ?

(A) Exactness

(B) Specific sequence

(C) Expanded expression

(D) Pattern

Which one is the correct order in the
sub-unit of number identification ?
(A) Writing Number, Counting
Number and Order of the
Number

Writing Number, Order of the
Number and Counting Number
Order of the Number, Writing
the Number and Counting the
Number

Counting the Number, Writing
the Number and Order of the
Number

(B)

(©)

(D)

In which method in teaching Math-
ematics one proceeds from unknown
to known ?

(A) Inductive

(B) Deductive
(C) Synthesis
(D)

Analysis
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94. ceRF JIO6QIee! QueaIdel Q°ade

Q62 ?

(A) 999, d94 Q6R9Y I°aFsR
ACOeR 223

(B) 8aneh g< gge 394 acven 98-
aes

p/'amaﬁqam Qaage ge g9g@

adaia eagd

(D) dadivIeea 484 VA 8IQ
IR 09

Q6aTRS A96R goNIGIS! aImIdiaIes

026 QOQIP 6906 J6ad QAgS ?

(A) 9% gqisd

(B) <o acisd

(C) dsqasael aisd

(D) 889S 4Sae adicad

96. ¢e@ aedeca g9 gfde faag

PRI 8 AEFER AU AR
SQUAIQANG ?

(A) 96
((B)’ aieUL
(C) Sequa
- (D) <eqaa
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94. Which one is not connected with the

usibility of the lesson plan ?

(A) Teacherbecomes aware of the
learmning objectives

(B) Leamner, understands the pre-
determined leamning objectives

(C) Pre-requisites of content

knowledge of the learner is
tested

(D) The achievements of the
leamer is evaluated

According fo experts which one is
most appropriate to identify the gifted
leamer?

(A) Intelligent Test

(B) Achievement Test

(C) Aptitude Test

(D) Personal Observation of the
teacher

In which method are the mathematical
problems solved using pre-
establishedrules ?

(A) Deductive
(B) Inductive
(C) Analysis

(D) Synthesis
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97. Which is the correct order of
teaching Mathematics ?

(A) 69N, GRUIGR, BIQ B JEAS (A) Understanding, Evaluation,

Knowledge and Application

(B) =ie, g6aId, 6R 8 RN (B) Knowledge, Application,

Understanding and Evaluation

(C) qRuIgR, geaid, 6QRI G BIQ (C) Evaluation, Application, Under-
; standing and Knowledge
IQ, 62RI, gedid 8 galiae (D) Knowledge, Understanding,
Application and Evaluation

g7. 6Que ade ANIRIR aceaia 0] QA ?

) < ‘: ‘?
98. 6uC dJICILQ 619 26T ? 88 Wrikisthotctrihec o -

@A) dieege ause (A) Standardised Test
(B) 696°62Q (B) Rating Scale
A2y asiee (C) Interview

(D) d999e (D) Questionnaire

99. Qde 90y q;dnggﬁgqqggm“@ 99. Which one is different from

Sa 7 the co-scholastic point of view in
% Mathematics?
(A) <9&eea
(A) Mathematics Fair
B) Qdogee
" Foe (B) Mathematics Quiz
(e " WOAR (C) Mathematics Club
(D) @dcges (D) Mathematics Project
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100. “eQIC G@ea ALY 6RIEQ AfdE
AFIR 626M Y2l 691 gRIQ Fee ¢
Q| 698 g1 94 ?

A) of dee

(B) QQI0R9eR

/,e( QRdFRR

(D) Qe Fdane
101, 239, 2%)? @ 6960 g6l ?
A 8
s (5 26436
B) 4 <, I/ g

yZ

(D) 1

102. Q@ .:_ q :;;- QIQl UG FRER, RUATR

1 94, 6969 a Q AIR 6960 ?

WtsApp/Call- 8596976190

I
100. “The measure of all the angles of a

triangle are equal, then what type of
triangle is it ? " What type of ques-
tionis it ? |
(A) Multiple choice

(B) Recognition type

(C) Recalltype

(D) Analogy type
101. 2(32)is how many times of (23)2 ?
(A) 8
(B) 4
C) 2
(D) 1

102. Ifg is divided by % the quotient

is 1, what is the value of ‘a’ ?

(A) 18

(A) 18 % ;f‘ f‘,ﬂt

® 22 S Varcl i, %

©r =18 qa 46 3 (€) -18
el bl

(D) -22 & 2130 (D) -22
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103. T¢] 0e-1 @@ 2IKOERE AFOR §6a OF

QOISR 644y 26 62. §. 6 99
16 6Q. 7. 1 92IQ geaie @8Q 3 6. 4.
Q1d QI@ 8] 9d 2P AP HeAIQ
QIS QUSRI | UFE QTR SEQ 631ITY
cHIRIge 891 2AeAR QA g
(5g-2 9F) gge @aiaal | 9@ 19
QO6R 29I ¢IR YRQ ARFE 6960 AR

6Q. ¢. 629 ?

2
.
(B) 496 ((‘2/ e
R
(C) 500 ﬁa
(D) 600

103. A rectangular sheet of card board,

shown below in Fig.-1 is 26 cm long
and 16 cm broad. Squares, each of
3 cmedge, has been removed from
each corner of the paper sheet. An
open cuboidal tray, as shown in
Fig.-2, was made using the remain-
ing sheet of card board. What is the
volume of the open space, ir cubic

cm. available in the tray ?

-

Fig.-1 Fig.-2

—

A) 396
(B) 496
(C) 500

(D) 600
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SET-A
104.594 29 6RGIER, P64 AR NIAIA 104. The following bar graph shows the
Q00 LIpAIa], sagAIRl, AP 8 g quantity of paddy sold in the month

AIQea ¢ ARl U AFAEQ
QdIdIQg | d@ eTdial a6
:zigggz;gé?&zagé :?ag; quantitie-s'of padt_iy sold in Februar.y
6 Qeia. £4, 6969 QIPAAT B AIKEQ and April is 6 quintals, then what is
33 6RIQAR AIeA 6AIC TBAIE 6969 the total quantity of paddy sold in
qeQ ? January and March in quintal ?

of January, February, March and
April. If the difference between

-

QI6RINQ P QGG >
@
NN

Quantities of Paddy sold -
(¢}
f

February \\\\\\\\\\
NN

/7 %
D T
&1 VG 17 %
AA0 A |°tAN7
s 2 T & 5 :
£ E NS .5 2
©ag— 2 Month —>
11"
APy 4 @) 14
B) 16 (B) 16
©) 22 ©) 22
(D) 24 | (D) 24
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105. 2, 5,10, 17, 26, ; ; 105. 2, 5,10, 17, 26,
Q0Ag ¢yl QAR Y gRILIR What are the three numbers to be
6rIten cod Qal Qdeq, QA% 09 placed in blank space left in the
62Q ? sequence of numbers given above to
: make the sequence correct ?
9)/ 38, 50, 65
(A) 38,50,65
. (B) 37,52,65
(B) 37,52,65
(C) 37,50,64
(C) 37,50,64
(D) 37,50,65
(D) 37,50,65

. 651 0gRea a18d '
106. 691G TEE TR NORRI S 106. How many triangles can be
obtained by joining the vertices of a

quadrilateral ?

A) 5
(B) 6

(C) 8

(D) 10 | (D) 10
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107. 64115 Q6l2IgE Jda QTSI geaIR

IR 3¢y 54 A. | ¥QIF QIR IR
6UERR AT IR SRR 3 §.
UIRER FaAIe 6DIQIIR | QD
edola 6 dQ ¢4 caIF Iy
2R 249, 6069 6CIGER Q61T ¢4
caIQIde ?

(A) 64

(B) 68

(C) 72

12 76

108. @64 6QIRF1 8T a4l AR 6QomNg

6Q60 QIF| 6QR @&6R, 6 & a8l AR
6QIONG 6A0R QIFER IREM | €969

PlaQ 49N 66T MW cem! ?

(A) 333%

(B8 53%%
Ws’g%

(D) 355%
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107. Each edge of a garden of square

108.

shape is 54m long. In order to
surround it by wire netting, pillars are
to be raised at ihtervals of 3m. Ifthe
raising of pillars starts from a corner
of the garden, what will be the

number of pillars necessary ?
(A) 64
(B) 68
(C) 72
(D) 76

A shopkeeper sold 6 cold-drink
bottles at his cost price of 8. What
percentage of profit he made ?

A) 333%

B) 33%%

(C) 353%

(D) 355%
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109. 69154 FMIRA6Q, 2015 FRIed6Q
69116 2128191 °@ll 160 26@ | 9L
dQ19d6e, 2191 a°¢u! 20 @fql 8 219
QY 20 QPR ¥ 2F 219 A°ENl,
RIQIT QA 7 G 6201 | 606@ 2015
JRIegen a8 IMNNAR BIQ1 A°HYI
26N LIQ A°EI 6R6Q AYR 8N ?
(A) 100
(B) 90

(o 50
(D) 70

110. 16 @8 16.8. o1d QIp 3da eo2boR
QIO AT 60PN ATER (AGHRR I
UK IR OF 6915 29 96 2GS AR
QAUGIA | 642 QP 2NFIQ TRUIA 669
6Q. &. ?

—AT 8
(B) 12

S

(D) 32

i ik I T M l

109. In a school, the total number of

110.

students was 160 in the year 2015.
In the foliowing year, the number of
girls decreased by 20 and the
number of boys increased by 20. As
a result, the number of boys became
7 times the number of girls. During
2015, the number of boys was how
much more than the number
of giris ?

(A) 100

(B) 90

(C) 80

(D) 70

16 number of square sheets of
paper each of 1 cm edge were kept
adjacentto each other on a table to
form a bigger square. What is the
perimeter of the bigger squareincm. ?
(A) 8

(B) 12

(C) 16

(D) 32
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6960 ORI 25%, 180 o=ia 123%
Qe AR 2T ?

(A) T 120

(B) %75

(E) <80

(D)X 90

6QlISY 2o 2IgE 9 cagR 6ddly
80 diga B ga 60 dea | 9eIa §oa
geea 694y QOIRYQ 69T A B
ge geieeel @af viag Qg 2 doe
PRI QUL FAR 6RINF | AL
QTR 6969 QAR ?

A 392

(B) 380
@ 292

(D) 280
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25% of what sum of money};; équai
to 123% of T 180 ?

(A) 120

(B) 75

(C) %80

(D) X980

The length of a rectangular field is
80 m and breadth is 60 m. Aroad of
width 2 m is constructed inside the
field adjoining one side representing
its length and two sides represent-
ing its breadtn. What is the area of

the road in square metre ?
(A) 392
(B) 380

(C) 292

(D) 280
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695N ZREAR 2P A58 94 Soea
6ad, 98 8 Q0! gaIgea 2 8., 1.5
d. 8 1 fea | 985 @Rgd AREIER
622Q 500 AT 2 R 696R, 2eda
ERE0 ACQ PP FLEQ QLR ?

A) 1000

(B) 2000 § i
F '5..

(CY” 2500

(D) 1500

QARYE0, 6 am 62 SRAQ Q1A 91’ I
A9 Qg AR RQ, JaU6s s
3 @. 25 8. o'aea 6geea 4 4. 15 4.
6 Hgiea 40 §ae QI A1 Q6q CLBql |
Q% €QITN CIGQ BeIQ amg!@ PR
6Q 6Q16d Q10 74 QQ @ 29, 6969

6Q 69696260 AIF Aca aeBql ?

S
(A) 3.20pm K

(B) 3.15pm

MZO pm

(D) <AIRE CRIQ 6REAT Q6¢
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LDI: e '
The length, breadth and height of the

inner space of a cuboida! tank are
2m., 1.5m_, and 1 m. respectively. If
a quantity of 500 litres of water is
taken out of it while it was full to the
brim, then how many litres of water
willbe leftinit?

(A) 1000
(B) 2000
(C) 2500
(D) 1500

At 6 am, Satyaijit started his journey
from his house to his Uncle’s house.
Firstly he made his journey by a bus
for 3 hours 25 minutes, then he made
his journey in a train for 4 hrs 15 min
and lastly he made a journey by a
rickshaw which took him 40 min and
he reached his Uncle’s house. At
what time did he reach his Uncle's
house if he did not waste any time
while changing the vehicles ?

(A) 3.20pm
(B) 3.15pm
(C) 2.20pm
(

D) None ofthese
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115. 92 919Q §900 24 6244 YoIa Qiga 115. Ifthe length of the side of a rhombus

6Ot Q@ ArIe 626R, Q1A 928a is equal to the length of its smaller

A A b diagonal, then what is the measure
daclisl @9 ERIES €REQ 7 A ' :
of its angle of larger magnitude ?

(A) 30° A) 30°
(B) 45° (B) 45°
(C) 60° (C) 60°
OF” 120° D) 120°
116. 622 T 11 QI FQUSY ? 116. Wh;ch number is divisible by 11 ?
(A) 2864423 (A) 2864423
(B) 2863423 (B) 2863423
2865423 (C) 2865423
(D) 2853423 (D) 2853423

117. 1@ 29 9dis aAg 2gg 969 R | 117. Whatis the sum of all the odd natural

CUIGTR 6QEQ 629 7 numbers from 11029 ?
(A)225 (A) 225
(B) 237 (B) 237
(C) 239 (C) 239
(D) 240 (D) 240

JoinUs-' > f
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9876 QA°YIITEQ 221 9 @ FR1AAR G
dee qIea 908 9e° 7Q QIRIANIR G

goeriea An8 frea IRy 6960 ?

AN 8932

119.

120.

(B) 8392
(C) 8931
(D) 8391
14,21 B 2N 9@ QI ol : Al : S

NQ° 6AAIREQ A : Al : g : 210 6261,
QO19 A°GIT 6969 ?

(A) 25
(B) 28

(©r 35

(D) 105

AR 696 1.023 @ aGeqa QA A6E ?

307 1023
A 300 900

308 1021
©)" 300 ©) 500

118.

119.

120.
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What is the difference between the

sum of the place value and real value
of 9 and the sum of the piace value

and real value of 7 in 9876 ?
(A) 8932
(B) 8392
(C) 8931
(D) 8391

The HCF of 14, 21 and another
number is 7 and their LCM is 210.
Then what is the third number ?

(A) 25

(B) 28

(C) 35

(D) 105

Which of the following is the rational

form of 1.023 ?

N 307 g 1023
A 300 ®) 3500

308 1021
il AN A
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l okl —RA I

| adead IWiQ
| ENVIRONMENTAL SCIENCE

699 6896 ASRE gosalx aAse

geIae kY Q°QIRe 62192 ?

(A) QQRRIEQ QIC YRI2 gQl-

6Q6R

(B) @-9912Q AFER OGI€16Q NG
JIRURIERER

(C) QISR TR 98Q ALIYI-
6Q6R

2}2)/661@‘0 coReaeR @ig Quag
QO2IRIEER

6Q%6 AR 654199 ?

By ade R

(B) £AR10 9@

(C) 9Q Qi oR

(D) QRINESE R

69Q @9 67Q YR0IQ WY &7
Q42 YLREQ 9% A% AN UG 29
QIR ?

(A) <G 9¢

(B)

( 6degAa 9

(D)

R

@6eana 99
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122.

123.

In which case, positive work is done

with least resistance ?

(A) While there is electric current in

a conductor

(B)

While a ball is rolling on a
horizontal levelied floor

(C) While aripe fruit is falling from
atree

(D) While a helicopter is rising up

from the ground

Which one belongs to a different

class ?
(A) Frictional force
(B)
(C)

(D)

Magnetic force
Static electric force

Gravitational force

On which day sun-set does not
occur for 24 hours in the region from

the Arctic Circle to the North Pole ?
(A)
(B)
(C)
(D)

March 21
June 21
September 23

December 22

WtsApp/Call- 8596976190
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124. 9B694d 2RILY AURO 9@ AAISSIQ

UQIQ 6VQER T6FID FRIQ CISYSs

6290 U6 daIRIeada O FIg fea

Q211N ?

@. aAduess

(B)
(C)
(D)

adicensfae ogy Adaas
AGR1e PAIFEeR AT 1RaE

QRS G2IR TS

125. AR 21D AT 69K @IVIG
A6IIQE 26T ?

agie .

93/ JAQ AQIAER6R F! 62

B)

(C)

(D)

géiel’'a

99101 9890998 A gdasa
9EaIag

deIgiagel 99999 6@
daied

JQIKIRYel I8ARg] NI
0Qel6ee 98IQQIeg

126. 49 LURA 688 976 OF ?

(/A)/%‘FE]!QE’J — QId@@ — 94 —

(B)

(C)

(D)

PRCA
QAE — AR — FIAPM —

PEVEN

@Idide — gAgY — 94 —
AR

g — RdIgd — g4 —
qlAam1 .
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126.

Relating to the study of a phenomenon
of environmental study, mainly on
which one of the following the
degree of correctness of the
inference depends ?

(A) Observation

(B) Recording the observed data

(C) Classification of collected data

(D) Analysis of classified data

Which ability of a school level learner

is the best ?

The learner :

(A) - listens attentively while the

| teacher is teaching

(B) understands fully all that is

~ taught

(C) keeps in memory all that is
taught

(D) explains to others correctly all

that is taught

Which is the correct order of
respiratory system ?
(A) Nasal passage — Trachea —

Pharynx — Lungs

(B) Nasal passage — Pharynx —
Trachea — Lungs

(C) Nasal passage — Lungs —
Pharynx — Trachea

(D) Lungs — Nasal passage —
rhaiyiax — Lungs
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127. gRERIRQ 691 2°E6Q HIQy 286 621 127. In which part of cauliflower is food
Q6L ? stored ?
(8 @@ (A) Inflorescence
(B) @< (B) Stem
(C) aw (C) Fruit
(D) 9= (D) Root
128. 608 @48 638159 F6RIRIS Q%G ? 128. Who is scientific aptitude based
: : person ?
(() 94 gengqsr agUie @6a (A) Who analyses threadbare
(B) 94QQ AcElig ALPER P26 @EQ (B) Who accepts all events easily

e b4 o (C) Who does not give importance
(C) Q9 aAMQ A9IAeT JaQ SN QIR »
to others opinion

(D) 44zl YIS FER (D) Who argues unnecessarily
129. 69¢ OR 962 ? " 129. Which one is not correct ?
(A) 98 888 20l1gIgIea 99 (A) Ata particular temperature on
@edsa 2199 FaIasn 998 adding solvent in a saturated
- solution, it becomes unsaturated
UGS 29

(B) At a particular temperature on
(B) 49e Ffa QlaqIglea aads _
adding solute to a saturated

gQdea QU ddimem LSO solution, it becomes super-

2PaRgs 24 saturated

)25 9@ d8gs 99de Wed @ER 912 (C) On heating a saturated solution,
2afas 29 it becomes unsaturated

(D) <9 2IGAS 296 TTIN6ER SI2! (D) On boiling an unsaturated

B8 o solution, it becomes saturated

JoinUs-' > f
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130. 9@ AFgM QALRR ACIRRE 6TQER :

(1)

(ii)

(iii)

JoRIRgPaa 6716 ARFIIg Q°al
de QNS 67T AQCIE
QLI AANR 629! AR
JoRINRgeaa Al g el
d? QQIegeea 6Alc 2 A°ayl
AR 6291 UISENQ
doeieeqian gesia 61aea
8RS AQCNE oGyl AL QQIQ-
Jeea geoia 6AlRea &aIg

dacli€] <°clYl AR 62 IR

QUERIB ARIQ

(A)
(B)

(C)

(i) @ (ii) O] 9 (i) g
(ii) 8 (i) O 9e* (i) @@

(i) 6 (iii) 5] << (i) g

})} (i), (ii) qa<* (iii) OQ

131. 6906 05694 2UAFR AERGY P6L ?

(A)

IR NI A

}B}/ ageed gode o

(©)

(D)

AR gl 6QQ

dAE4E G946 6R6R 996 KR
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130. In case of a balanced chemical

131.

equation:

()  Thetotal number of atoms of the
reactants should be equal to the
total numbers of atoms of the
products

(i)  The total number of molecules
of the reactants should be
equal to the total number of
molecules of the products

(i) The total number of atoms of
each element of the reactants
should be equal to the total
number of atoms of each
element of the products

Outofthe above:

(A) (i) and (ii) are correct and
(iii) is wrong

(B) (ii) and (iii) are correct and
(i) is wrong

(C) (i) and (iii) are correct and
(ii) is wrong

(D) (i), (ii) and (iii) are correct

Which is not the aim of environment

study ?

(A) To analyse envircnment

(B) To poliute environment

(C) To protect environment

(D) To identify learning technique

of environment
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132. 2ICAINEYTSIER 6QQ HIA FGS £9 ? 132. Which is the gas liberated during
<2l 69 geia 94 ? Photosynthesis ? Which type of
' question is it ?
(A) geseae
(A) Recall type
(B) aseee (B) Selection type
(& Baiendae (C) Recognition type
(D) Qae Fdiee (D) Analogy type
133. 6QUYER 98 galIa ¢4 ? 133. Which are energy yielding food ?
(A) 18 6 &R A6 (A) Vitamins and minerals
(B) 6€qodia 8 69edia (B) Carbohydrates and fats
(C) 6goQia 8 ¢de AQd (C) Carbohydrates and minerals
D) &goaia 6 QeIae (D) Carbohydrates and vitamins
134. 629269 IRLIAF @ &I ? 134. Which does not contain enzyme ?
W' 2AQYIEE (A) Pancreatic juice
" (B) aifa Qe (B) Salivaof mouth -
(C) aee a4 (C) Digestive juice
(D) daeqd (D) Bile juice
135. 6296 @01fiq — B 641de 229 135. Which is not included in Vitamin-B
Q6% ? complex ?
(A) QEAFIRY (A) Riboflavin
(B) aae de (B) Folic acid
(C) 2T IAQ (C) Ascorbic acid
(94/ QUEAITR (D) Biotin

Join Us-' > f
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136. 62QF CI0 6QULRIQ WY@ 6QIVIR
gee ?
Ay Q66T ARY
(B) @agige

(C) Ry

'(9; gesIae

137. 6849160 699 gRIQ TQEYa QA€
QAT ?
(A) Q91 26-502de
(B Qieta aig adeaien
(C) QL1a g8 ademe
(D) Qugeeel QUG
138. 884I6Q @09 o7 68 J60e QIR
6QR0I6Q AES ?
/W( LRUPR
(B) Quedigrga
(C) <@

(D) =il

139. §69I8 6RA¢ 6glesq 0] @IeQ
QIR AR QIF ?

A 9e gfiqa
(B) (2
(C) 2edd

(D) cResgeaa 2igd

Join Us-' > f
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136. Which is not a step in lesson
planning '?
(A) Specific objectives
(B) Presentation
(C) Evaluation

(D) Promotion

137. Which type of forest has the maxi-
mum area in Odisha ?
(A) Tropical semi-evergreen
(B) Tropical moist deciduous
(C) Tropical dry deciduous

(D) Coastal Tidal

138. Where in Odisha are both Sugar and

Cement factories located ?
(A) Hirakud
(B) Rajgangpur
(C) Baragarh
(D) Aska
139. Which of the following can not be
properly shown on the globe ?
(A) Small land forms
(B) Direction
(C) Location

(D) Shape of the continents
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141.

142.
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ooTIdIR’ ANITR VIR

JFL6Q MRIQ AR ?
(A) <EI8d
(B) gede

(y AGE

(D) 9QIgd

QRIUe Iy A0 6eaf 6Q
Q6L 7

(A) J9Q 9IS G 2 AVRER CRES
(B) dIGTYER QX6Q MR QG

(9/ cadQel 9°6d d°69 @ AR

AR

(D) 6R%9l ANAER AT YRR AL

AP RIS TIOQ 691 REREY ALQ
6QR0 AU g6L ?

(A) 98694 GRRa RI0d 269

(ka;) |

(€)

2018 6 60da god rIeR
QAR {¢g 2R

dG219Q cadl AIRGe USSR
QAR

(D) QER USRA JAARITCAR €ALER

QIR @9IR!
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140. Inwhich method of learning of social

141.

142.

science “zoo” could be used ?
(A)
(B)
©)
(D)

Survey
Demonstration
Excursion
Experiment

Which is not correct in black board

work ?
(A)

Teacher to write down in big

letters clearly

(B)
(©)

To maintain gap between lines

To erase quickly without

reading

To read aloud at the time of

(D)

writing

Which is not associated with the
understanding objectives of social
science ?

(A) Showing the cause of changes
in environment

(B) Determining the relations
between the economy and the

progress of the country
(©)
(D)

To draw historical sketch maps
Showing the differences in the

transport sector
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143. R 600 RVELIIER FCARUIE
RIS UGS ?

A) QIFISRT
(B] semie
(C) 630041
D) geeRd

144. 698 2U9R6Q 916 agsa 98aiQ
cRIRAN ?

Mﬂ@@
(B) G@al
(C) o4

(D) QaRAQ

145. QURGER RIS AT QURY A
28910 99iQ A°6aId 9AQ 69R 6QIGE
0Q 62 ?

AR)
(B)
(C)
©

Qdl-adaaer
2IY-00ged
QIRI-ZIAIQ
ORIRIRIN-ZIRYERE

146. Qleosa dga 2Q9® 9 gaaq
QIPILRRIAIER 69 FIARUQIQ YOI

(B) gqi@cue

(C) QR QUSRY

(D) QU869 Jeal AR
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[ SET-A |

143. On which riverbed is the Barehipani

144.

145.

146.

waterfall located ?
(A)
(B)
(C)

The Nagavali
The Kolab
The Baitarani

(D) The Budhabalanga

In which coast does rainfall occur
during winter ?

(A)
(B)
(C)

Coromandal
Odisha

Konkan

(D) Malabar

Which pair is not correct in relation
to the highest production of
agricultural crops with the

corresponding states in India ?
(A)
(B)
(C)
(D)

Cotton — West Bengal
Sugarcane — Uttar Pradesh
Tea—Assam

Groundnut — Andhra Pradesh

Which idea was popularised by
the early nationalists to promote

Industries in India ?
(A)
(B)
(€)
(D)

Swadeshi
Swabhiman
Laissez-fair

Anti-colonialism
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147. QARG G109 de0 @4 U8 FUR ? 147. Who was not associated with the

formation of the Muslim League ?

(A) e ¢l
s (A) AghaKhan
(F)"nos0 2yl wal (B) Mohammad Ali Jinna
(C) QI ARAR (C) Nawab Salimullah
(D) @9iecaedy-ar-gas (D) Nawab Mohasin-ul-Mulk

148. @3QI-2ICRIFFER A°YS FIQIQ F9 148
decr eeiqeiem ?

. Who was arrested for his involvement

in the Kanika agitation ?

(A) Rgee @id (A) - Madhusudan Das

(B) 6QI9QQ @IQ (B) Gopabandhu Das

AC) 91994 @/d (C) Nilakantha Das

(D) Qg8 solyet (D) Nabakrushna Chaudhury

149. 66109 AYNIAQ L°AFR AL 4 KUY 149. Who does act as the guardian of the

Q08 ? Fundamental Right ?
(A) Quead (A) President
(B) el (B) Prime Minister
(C) <rae (C) Parliament
/(Ef) 6B PYIAING (D) Supreme Court
150. QIR EMINEAR AR ARNIATG @9 150. Who can remove the Chairman of the
QLFIQ RS ? State Public Service Commission ?
(A) Qaae (A) President
,(»B)/ QAU . (B) Governor
(C) QuIeag! (C) Prime Minister
(D) QenNaRT (D) Chief Minister
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